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Answer zrli questions
This qui:slion paper should be answered only in E[glish
Time alio,rerl: One hour

l. (a) Dc{ire fie lbllowing 1e n.s.

(t D,lc1ilily

(ir) Ela$tic Limit

{iii) Fl,iolie's Law

(iv) Frrctor ol'Safety

(b) A rLiid steel rod 2 cn diameter and

the Young's Modulus ofurild steel

the rod

3 m long carries an axial pull of 6 tonnes. If
is 2x106 kg/cm2, calculate the eiongalion of

2. (a) Delille the rerms "Shear F'orce" alld "Bending Moment" .

(b) Dra,u the tlpical free body diagmm for the following:

(i) r\ caltilever bearn rvith a point load at the open end.

' (ii) . r\ simply supported beam ilh rmifomly varying load throughout.

(c) Con$ltu(t :;hear Force and Bending Moment diagam for a simply supported

beanL given below,

30lN/rn
40 kN


